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ENCORE WORSTED
Cabled Hat

To Fit Average Adult
Hat Circumference: 20”, stretched slightly

Materials:

Encore Worsted: 1—100g ball shown in color 240
Taupe

Gauge: 18 sts. 24 rows = 4” in st st on US Size 8 (5mm)
knitting needle after blocking.

24 sts= 4” in Cable Pattern on US Size 8 (5mm) knitting
needle slightly stretched.

Needles/Notions: US Size 6 (4mm) and 8 (5mm) 16”
circular needles, US Size 8 (5mm) DPNs, 1 stitch
marker, tapestry needle, cable needle.

Special Abbreviations

C4B= Slip two stitches to cable needle and hold to back,

k2, k2 from cable needle.

C4F= Slip two stitches to cable needle and hold to front,

k2, k2 from cable needle.

mlL= With left hand needle, place the tip of the needle

from front to back into the bar between the sts on the

needle, k this st tbl.

m1R= With left hand needle, place the tip of the needle

from back to front into the bar between the sts on the

needle, k this st.

T3B= Slip one stitch to cable needle and hold to back,

k2, p1 from cable needle.

T3F= Slip 2 stitches to cable needle and hold to front,
B i pl, k2 from cable needle.

T4B= Slip two stitches to cable needle and hold to back, k2, p2 from cable needle.

T4F= Slip 2 stitches to cable needle and hold to front, p2, k2 from cable needle.

Cable Pattern in the round (Multiple of 12 sts)

Rnd 1: *K4, p2; rep from * around.

Rnd 2: *K4, p2, C4B, p2; rep from * around.

Rnds 3 and every odd rnd: K the k and p the p.

Rnd 4: K the k and p the p.

Rnd 6: Same as rnd 2.

Rnd 8: *K4, C4B, C4F; rep from * around.

Rnd 10: Remove m, k2, replace m, *T4B, k4, T4F; rep from * around.

Rnd 12: Remove m, unknit 2 sts from previous rnd, replace m, *C4B, p2, k4, p2; rep from * around.
Rnd 14: K the k and p the p.

Rnd 16: *C4B, p2, k4, p2; rep from * around.

Rnd 18: Remove m, k2, replace m, *C4F, k4, C4B; rep from * around.

Rnd 20: Remove m, unknit 2 sts from previous rnd, replace m, *k4, T4F, T4B; rep from * around.
Rep rnds 1-20 for pattern st.

ABBREVIATIONS:, dec = decrease, inc = increase, k = knit, k2tog= knit two stitches together, m1= make one, mm= millimeter, p =
purl, rep= repeat, rnd= round, RS= right side, sl = slip, ssk = slip 1 st as if to knit, slip a second st as if to knit, knit them together
through the back loop, st(s) = stitch(es), st st = stockinette st, tog = together, WS = Wrong Side
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Rib Pattern (Multiple of 10 sts)
Rnd 1: *K4, p2, k2, p2; rep from * around.
Rep this rnd for pattern st.

BEGIN:

With smaller circular, long-tail CO 100 sts.

Work in Rib Pattern for 4”.

Inc Rnd: *K4, p2, m1R, k2, m1L, p2; rep from * around.
120 sts on needle. Switch to larger needle.

Work rnds 1-20 of Cable Pattern in the round.

Then work rnds 1-6 once more.

Shape Crown

(Switch to DPNs when there aren’t enough sts to fit comfortably on the circular needle.)

Rnd 1: Remove m, k2, replace m, *ssk, p2, k4, p2, k2tog; rep from * around—20 sts dec’d. 100 sts on needle.
Rnd 2: *K1, C4B, C4F, k1; rep from * around.

Rnd 3: *T3B, k2tog, ssk, T3F; rep from * around—20 sts dec’d. 80 sts on needle.

Rnds 4 and 5: K the k and p the p.

Rnd 6: Remove m, unknit 2 sts from previous rnd, replace m, *C4B, k2tog, ssk; rep from * around—20 sts dec’d.
60 sts on needle.

Rnd 7: K around.

Rnd 8: *Ssk; rep from * around—20 sts dec’d. 40 sts on needle.

Rnd 9: K around.

Rnd 10: *Ssk; rep from * around—10 sts dec’d. 10 sts on needle.

Cut yarn, leaving a 6” tail. Thread tapestry needle with tail and draw through remaining sts. Pull tightly and fasten
off. Secure the end and weave in.
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